

SCORE: ____ / 24 POINTS

Evaluate $\binom{8}{5}$.

SCORE: ____ / 2 POINTS

$$\binom{8}{5} = \frac{8!}{5!(8-5)!} = \frac{8!}{5!3!} = \frac{8 \times 7 \times 6 \times 5!}{5!3!} = \frac{8 \times 7 \times 6}{3!} = \frac{8 \times 7 \times 6}{6} = 56$$

Prove that $5^n + 9 < 6^n$ for all integers $n \geq 2$ by mathematical induction.

SCORE: ____ / 9 POINTS

BASIS STEP: $n = 2 : 5^2 + 9 = 34 < 36 = 6^2$

INDUCTIVE STEP: Assume $5^k + 9 < 6^k$ for some particular but arbitrary integer $k \geq 2$.

$$\text{So, } 5^k < 6^k - 9$$

$$5^{k+1} + 9$$

$$= 5 \times 5^k + 9$$

$$< 5 \times (6^k - 9) + 9$$

$$= 5 \times 6^k - 45 + 9$$

$$= 5 \times 6^k - 36$$

$$< 6 \times 6^k - 36$$

$$< 6 \times 6^k$$

$$= 6^{k+1}$$

OR

$$6^{k+1}$$

$$= 6 \times 6^k$$

$$> 6 \times (5^k + 9)$$

$$> 5 \times (5^k + 9)$$

$$= 5 \times 5^k + 45$$

$$= 5^{k+1} + 45$$

$$> 5^{k+1} + 9$$

By mathematical induction, $5^n + 9 < 6^n$ for all integers $n \geq 2$.

Simplify $\frac{(n-2)!}{(n+1)!}$.

SCORE: ____ / 2 POINTS

$$\frac{(n-2)!}{(n+1)!} = \frac{(n-2)!}{(n+1) \times n \times (n-1) \times (n-2)!} = \frac{1}{n(n+1)(n-1)}$$

Write the following series using sigma/summation notation with the lower limit of summation $k = 2$.

SCORE: ____ / 3 POINTS

$$\begin{aligned} & \frac{4 \times 1^2}{3} - \frac{8 \times 2^2}{4} + \frac{16 \times 3^2}{5} - \frac{32 \times 4^2}{6} \\ &= \sum_{k=2}^5 (-1)^k \frac{2^k (k-1)^2}{k+1} \end{aligned}$$

Suppose that $a_0 = 0$ and $a_1 = 4$ and $a_k = 6a_{k-1} - 5a_{k-2}$ for all integers $k \geq 2$.

SCORE: ____ / 8 POINTS

Prove that $a_n = 5^n - 1$ for all non-negative integers n .

BASIS STEP: $n = 0$: $a_0 = 0 = 5^0 - 1$

$n = 1$: $a_1 = 4 = 5^1 - 1$

INDUCTIVE STEP: Assume $a_n = 5^n - 1$ for $n = 0, 1, \dots, k$ for some particular but arbitrary non-negative integer $k \geq 1$.

So, $k-1 \geq 0$ and $k-1 \leq k$.

$$\begin{aligned} & a_{k+1} \\ &= 6a_k - 5a_{k-1} \\ &= 6(5^k - 1) - 5(5^{k-1} - 1) \\ &= 6 \times 5^k - 6 - 5^k + 5 \\ &= 5 \times 5^k - 1 \\ &= 5^{k+1} - 1 \end{aligned}$$

By strong induction, $a_n = 5^n - 1$ for all non-negative integers n .

SCORE: ____ / 24 POINTS

Prove that $5^n + 9 < 6^n$ for all integers $n \geq 2$ by mathematical induction.

SCORE: ____ / 9 POINTS

BASIS STEP: $n = 2 : 5^2 + 9 = 34 < 36 = 6^2$

INDUCTIVE STEP: Assume $5^k + 9 < 6^k$ for some particular but arbitrary integer $k \geq 2$.

So, $5^k < 6^k - 9$

$5^{k+1} + 9$

OR 6^{k+1}

$= 5 \times 5^k + 9$

$= 6 \times 6^k$

$< 5 \times (6^k - 9) + 9$

$> 6 \times (5^k + 9)$

$= 5 \times 6^k - 45 + 9$

$> 5 \times (5^k + 9)$

$= 5 \times 6^k - 36$

$= 5 \times 5^k + 45$

$< 6 \times 6^k - 36$

$= 5^{k+1} + 45$

$< 6 \times 6^k$

$> 5^{k+1} + 9$

$= 6^{k+1}$

By mathematical induction, $5^n + 9 < 6^n$ for all integers $n \geq 2$.

Write the following series using sigma/summation notation with the lower limit of summation $k = 2$.

SCORE: ____ / 3 POINTS

$$\frac{4 \times 1^2}{3} - \frac{8 \times 2^2}{4} + \frac{16 \times 3^2}{5} - \frac{32 \times 4^2}{6}$$

$$= \sum_{k=2}^5 (-1)^k \frac{2^k (k-1)^2}{k+1}$$

Suppose that $a_0 = 0$ and $a_1 = 4$ and $a_k = 6a_{k-1} - 5a_{k-2}$ for all integers $k \geq 2$.

SCORE: ____ / 8 POINTS

Prove that $a_n = 5^n - 1$ for all non-negative integers n .

BASIS STEP: $n = 0$: $a_0 = 0 = 5^0 - 1$

$n = 1$: $a_1 = 4 = 5^1 - 1$

INDUCTIVE STEP: Assume $a_n = 5^n - 1$ for $n = 0, 1, \dots, k$ for some particular but arbitrary non-negative integer $k \geq 1$.

So, $k - 1 \geq 0$ and $k - 1 \leq k$.

$$\begin{aligned} a_{k+1} &= 6a_k - 5a_{k-1} \\ &= 6(5^k - 1) - 5(5^{k-1} - 1) \\ &= 6 \times 5^k - 6 - 5^k + 5 \\ &= 5 \times 5^k - 1 \\ &= 5^{k+1} - 1 \end{aligned}$$

By strong induction, $a_n = 5^n - 1$ for all non-negative integers n .

Evaluate $\binom{8}{5}$.

SCORE: ____ / 2 POINTS

$$\binom{8}{5} = \frac{8!}{5!(8-5)!} = \frac{8!}{5!3!} = \frac{8 \times 7 \times 6 \times 5!}{5!3!} = \frac{8 \times 7 \times 6}{3!} = \frac{8 \times 7 \times 6}{6} = 56$$

Simplify $\frac{(n-2)!}{(n+1)!}$.

SCORE: ____ / 2 POINTS

$$\frac{(n-2)!}{(n+1)!} = \frac{(n-2)!}{(n+1) \times n \times (n-1) \times (n-2)!} = \frac{1}{n(n+1)(n-1)}$$

SCORE: ____ / 24 POINTS

Evaluate $\binom{7}{3}$.

SCORE: ____ / 2 POINTS

$$\binom{7}{3} = \frac{7!}{3!(7-3)!} = \frac{7!}{3!4!} = \frac{7 \times 6 \times 5 \times 4!}{3!4!} = \frac{7 \times 6 \times 5}{3!} = \frac{7 \times 6 \times 5}{6} = 35$$

Suppose that $a_0 = 0$ and $a_1 = 4$ and $a_k = 6a_{k-1} - 5a_{k-2}$ for all integers $k \geq 2$.

SCORE: ____ / 8 POINTS

Prove that $a_n = 5^n - 1$ for all non-negative integers n .

BASIS STEP: $n = 0$: $a_0 = 0 = 5^0 - 1$

$n = 1$: $a_1 = 4 = 5^1 - 1$

INDUCTIVE STEP: Assume $a_n = 5^n - 1$ for $n = 0, 1, \dots, k$ for some particular but arbitrary non-negative integer $k \geq 1$.

So, $k - 1 \geq 0$ and $k - 1 \leq k$.

$$\begin{aligned} a_{k+1} &= 6a_k - 5a_{k-1} \\ &= 6(5^k - 1) - 5(5^{k-1} - 1) \\ &= 6 \times 5^k - 6 - 5^k + 5 \\ &= 5 \times 5^k - 1 \\ &= 5^{k+1} - 1 \end{aligned}$$

By strong induction, $a_n = 5^n - 1$ for all non-negative integers n .

Simplify $\frac{(n-1)!}{(n+2)!}$.

SCORE: ____ / 2 POINTS

$$\frac{(n-1)!}{(n+2)!} = \frac{(n-1)!}{(n+2) \times (n+1) \times n \times (n-1)!} = \frac{1}{n(n+2)(n+1)}$$

Write the following series using sigma/summation notation with the lower limit of summation $k = 3$.

SCORE: ____ / 3 POINTS

$$\begin{aligned} & \frac{3 \times 1^2}{4} - \frac{4 \times 2^2}{8} + \frac{5 \times 3^2}{16} - \frac{6 \times 4^2}{32} \\ &= \sum_{k=3}^6 (-1)^{k-1} \frac{k(k-2)^2}{2^{k-1}} \end{aligned}$$

Prove that $5^n + 9 < 6^n$ for all integers $n \geq 2$ by mathematical induction.

SCORE: ____ / 9 POINTS

BASIS STEP:

$$n = 2 : 5^2 + 9 = 34 < 36 = 6^2$$

INDUCTIVE STEP:

Assume $5^k + 9 < 6^k$ for some particular but arbitrary integer $k \geq 2$.

$$\text{So, } 5^k < 6^k - 9$$

$$5^{k+1} + 9$$

OR

$$6^{k+1}$$

$$= 5 \times 5^k + 9$$

$$= 6 \times 6^k$$

$$< 5 \times (6^k - 9) + 9$$

$$> 6 \times (5^k + 9)$$

$$= 5 \times 6^k - 45 + 9$$

$$> 5 \times (5^k + 9)$$

$$= 5 \times 6^k - 36$$

$$= 5 \times 5^k + 45$$

$$< 6 \times 6^k - 36$$

$$= 5^{k+1} + 45$$

$$< 6 \times 6^k$$

$$> 5^{k+1} + 9$$

$$= 6^{k+1}$$

By mathematical induction, $5^n + 9 < 6^n$ for all integers $n \geq 2$.

SCORE: ____ / 24 POINTS

Suppose that $a_0 = 0$ and $a_1 = 4$ and $a_k = 6a_{k-1} - 5a_{k-2}$ for all integers $k \geq 2$.

SCORE: ____ / 8 POINTS

Prove that $a_n = 5^n - 1$ for all non-negative integers n .

BASIS STEP: $n = 0: a_0 = 0 = 5^0 - 1$

$$n = 1: a_1 = 4 = 5^1 - 1$$

INDUCTIVE STEP: Assume $a_n = 5^n - 1$ for $n = 0, 1, \dots, k$ for some particular but arbitrary non-negative integer $k \geq 1$.

So, $k - 1 \geq 0$ and $k - 1 \leq k$.

$$\begin{aligned} a_{k+1} &= 6a_k - 5a_{k-1} \\ &= 6(5^k - 1) - 5(5^{k-1} - 1) \\ &= 6 \times 5^k - 6 - 5^k + 5 \\ &= 5 \times 5^k - 1 \\ &= 5^{k+1} - 1 \end{aligned}$$

By strong induction, $a_n = 5^n - 1$ for all non-negative integers n .

Write the following series using sigma/summation notation with the lower limit of summation $k = 3$.

SCORE: ____ / 3 POINTS

$$\begin{aligned} &\frac{3 \times 1^2}{4} - \frac{4 \times 2^2}{8} + \frac{5 \times 3^2}{16} - \frac{6 \times 4^2}{32} \\ &= \sum_{k=2}^5 (-1)^k \frac{2^k (k-1)^2}{k+1} \end{aligned}$$

Prove that $5^n + 9 < 6^n$ for all integers $n \geq 2$ by mathematical induction.

SCORE: ____ / 9 POINTS

BASIS STEP: $n = 2 : 5^2 + 9 = 34 < 36 = 6^2$

INDUCTIVE STEP: Assume $5^k + 9 < 6^k$ for some particular but arbitrary integer $k \geq 2$.

So, $5^k < 6^k - 9$

$5^{k+1} + 9$	OR	6^{k+1}
$= 5 \times 5^k + 9$		$= 6 \times 6^k$
$< 5 \times (6^k - 9) + 9$		$> 6 \times (5^k + 9)$
$= 5 \times 6^k - 45 + 9$		$> 5 \times (5^k + 9)$
$= 5 \times 6^k - 36$		$= 5 \times 5^k + 45$
$< 6 \times 6^k - 36$		$= 5^{k+1} + 45$
$< 6 \times 6^k$		$> 5^{k+1} + 9$
$= 6^{k+1}$		

By mathematical induction, $5^n + 9 < 6^n$ for all integers $n \geq 2$.

Evaluate $\binom{7}{3}$.

SCORE: ____ / 2 POINTS

$$\binom{7}{3} = \frac{7!}{3!(7-3)!} = \frac{7!}{3!4!} = \frac{7 \times 6 \times 5 \times 4!}{3!4!} = \frac{7 \times 6 \times 5}{3!} = \frac{7 \times 6 \times 5}{6} = 35$$

Simplify $\frac{(n-1)!}{(n+2)!}$.

SCORE: ____ / 2 POINTS

$$\frac{(n-1)!}{(n+2)!} = \frac{(n-1)!}{(n+2) \times (n+1) \times n \times (n-1)!} = \frac{1}{n(n+2)(n+1)}$$